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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
ti 

December, 2011 
O 
O 	ELECTIVE COURSE : COMMERCE 

ECO-4 : ACCOUNTANCY-II 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Attempt any four questions from Section-A including 
question No. 1 which is compulsory and both the 
questions from Section-B. 

SECTION - A 

1. 	Attempt any three questions from the following : 
5+5+5 

(a) What is unrealized profit ? How is it 
worked out and accounted for ? 

(b) What are the items shown under the head 
"Reserves and surpluses" on the liabilities 
side of a company Balance Sheet ? 

(c) Describe the rights of a hirer under the hire 
purchase agreement. 

(d) Distinguish between fixed and fluctuating 
capitals. 

(e) State any five characteristics of a company. 
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2. 	Based on the information given, calculate the 20 
value of goodwill of a firm. 
(a) at 3 years purchase of average profits 
(b) at 3 years purchase of super profits 
(c) on the basis of capitalization of super profits, 

and 
(d) on the basis of capitalization of average 

profits. 
The relevant information is : 
(i) rate of normal profit is 20%. 
(ii) average capital employed is 

Rs. 5,00,000. 
(iii) Profits for the last 5 years : 

Year Rs. 
2006 80,000 
2007 1,00,000 
2008 2,00,000 
2009 1,50,000 
2010 2,70,000 

3. 	A Ltd. issued 10,000 equity shares of Rs. 100 each, 20 
payable as follows : 
On application and allotment Rs. 50 per share 
On Ist call 	 Rs. 25 per share 
On IInd call 	 Rs. 25 per share 
A shareholder holding 400 shares did not pay the 
second call and shares were forfeited, 300 of 
which were re-issued as fully paid at Rs. 80 per 
share. Pass the necessary Journal entries and 
prepare the Balance Sheet. 
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4. Ram Singh purchased from Escorts Ltd. a tractor 20 

of the cash price Rs. 2,20,000 on hire-purchase 
system. Rs. 20,000 were paid immediately and 
the balance to be paid in 4 annual instalments of 
Rs. 50,000 each with interest at 8% per annum. 
The depreciation is to be charged at 10% per 
annum on written down value method. Ram 
Singh paid two instalments and failed to pay the 
third instalment. Escorts Ltd. took away the 
tractor by paying him Rs. 90,000 in cash. 

Prepare Tractor A/c and Escorts Ltd. A/c in the 

books of Ram Singh. 

5. What is 'Ratio Analysis' ? Describe the uses and 
limitations of ratio analysis. 	 4+8+8 

6. (a) How do you convert net profit into 'cash 
from operationS' for preparing cash flow 
statement ? Explain with an example. 	10, 10 

(b) Explain the concepts of 'cash in-transit' and 
'goods in transit', and show as to how are 
they recorded in the books of the Head 

Office. 

ECO-4 	 3 	 P.T.O. 



SECTION - B 

Attempt both the following questions. 

7. Define Auditing. Describe the qualities of a good 10 
Auditor. 

OR 

Explain the objectives of vouching. 

8. What do you mean by verification of assets ? 15 
Distinguish between verification and valuation of 
assets. 

OR 

What is meant by internal check ? Describe its 
advantages and disadvantages. 
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